JEE{CES: 300203 IEEERR: BARl NERS: 2014-096

BB (B I A
T4 I AR TRBAR R AT 475

AARREZSEFRRRIENERNEES. HERFTE, )
ERICEH . mFMEFREREXNER.

OB (BeH) Bt A PR A 7] (LU AR “ A7) 7 ) 12 OB R W E R
HARAR (LURFRR SR D T8 T RG220 F 4L, 7
HTE LU «

201351218 H, W RHH HAFA 1A A W) A BRAS & AF a4, 400, 000
G S UEAR R A BR A A (FEWA R O TR AR AU A4 )
AN&GGS: 2013-055) ;5 20144E12H18H, I RHKE Bk B 7R 43 1)
4, 400, 000 i B 411 70 28 56 B3 R B R 10 80 10 T4

BIAEAA G H, WERBILRA AR AFST, 741, 600 B BEARS, HAA FLEIEA
112, 74%. 2 Rt HT49, 960, 000 B, &5 B AR A A 2 7] B4 S 20 186. 52%,
AN F B BARITL. 03%.

BB (BIND Bt PR )
EHE
—O—NHE+=H=+=H





